©
(S
©
®
<,
U
pI=)
rlo
>
il
_);l_x‘
,
)
Hl
B
i
o
>,
to

o

0
il
©

0
1L
—

v v Vv vvy VY vy
0
L

02
i
37

B

Buol 24342 S8alo A,

4

3 2x4 3x3 8 9 17 5

3x4 T dx3 1212 12 12

Wl




L

18 18
— 1
(2+ )+(18

0.0

12
i 9

2—

ul
RO

A

el =

1x3 2X%X2

6x3 9x2
3 4
%§+Lﬁ

2

o

.

1
A=4ll==7
6+ 9

HHE 182

E‘]




D ETRT e wHeR AT
qare 52 A2 HEOA Q.
(1) 99} 49] HaFu4t DAt
(2)5 1_5><D 1><D

9 4  9x4  4x9
_@ B _u

36 36 36
> E
> E
> =
> = 36
> ®E: 20
> &"E: 9

(1) 92t 4 9] FAFHi4= 36 YU T
5 1 5x4 1x9 20 9

) 17 oxd ax9 36 36

11

36 36

Zuj4T} 1B £ S0] HAFHSE T o] Fah 2ayt




14

ul
RO

A

o

gt

A

stof Al

19

1

1=
2

19
6

28
6

B9] A4 T4 602 FE

19
28
19
=

1

6

3

2]

=S
2
42 =
3




W~
+
S| Ut

N |

35,1 (2410,
46 2 \12 12 2

_19 6 _ 25 1
T 12 12 12 T12







TALL.

S

.?_

=
=

&,

xel

g A

[

el
— |

b~ 00




AL,

0|

hulli=>

36)

A A

T+

ostdl >, =, <&

™
O
—
|
0 o
e~ |
I o
SEN
| Tio
[
A 218 o1

g1 Ul — < <t o
RO I |
’ D 0[O NN

21) 2 (
> — =
36 9

12 (Z




= Aate o, & H7H9] & FSHA L.
2 1 []

1) 22 4+ 3- =5—=

()25 435 =553
1,5 []

2) 3= 422 = 5=

(2) 35 +25 =553

(1) 2§+3%:2%+3%=(2+3)+(%+%>:5 %;
1
%

2) 3%+2§:3%+2%:(3+2>+(%+%>: +§:
13
T8

ek 13 4 13 = 26 YU




— <t

~|S

1,3
9 8

)
6

@

11
14




LYY7}?

B
JJ
o
oF

<A

apAl

=
=

27t &

=l




12.

5 B40] gt A2 AR FohAl L.

7 7
30 212

i

VV VY
0
it
I

02
il
)
|

B
7 7 14 35 49

5 49— =5— 422 7~
B 030 T4 12 = %60 T %60~ ‘60

i 14 35 74 35 39 13
Zpi5— —25- =4— 25" =9 " —9 "
F 60 60 60 60 60 20




o

)
A
i

B/

7K

3
10

®)3

@2§
5

— O

® 3

@ 3

— |

@ 3




14.

Fo1 E 3T, Zo] A sz% S

S BT

5 7
@gL @ 09

iE]

8

L
9

she o) Abgata

3-2-=2--2-=2(L)




15.

th2-& AltetAl 2
3 4 .5
52 —1--22
475 78
> &
.13
> " 1
3 4 5 (15 16) 5
52 -1--22 = (51— ) -22
4 5 8 20 20/ °8
19 .5 .38 _25 13
:——2—:—— _— = | —
%50 78 =30 %10 ~ a0




16. O%tell >, =, <& GUA HEoA Q.

1 3

4 10

2

1
2

o

VvV V
0
il
A

B
5 8 13

1 2

3 1 3 5 8 4
100 "2 10 10 10 5

13 4 < 16>
4— <4-|(=4—
~ %50 %5\ T %0

3—+1-=3—+1—=4— =4-=




17. the % B4 A4 Bapt o 2 0] 758 240,

4 .2 4 5
4= —3= 3— 22
Q 4735 © 3% -2
> E:
> g 6
4 2 20 .21 .55 .21 34
4--35 =4 _3-—3° 35—
Oz =35 =455 735 = 3% 3% 3
4 5 25 57 .25 32

12
3— -—22=32_22 =922 _220_"2%
R T B T T I T

A2t ©Fel 191 = AT O7F | Aot B 5 AFYH




AL,

SE X

. %]A
]_
7,]/]-,]:"- EO] 7]7'] Bl X 27
=2 A
]

._.___..u
RO

A

7}

.

._"_.u
RO




19.

ﬁwﬂz4}n%ﬂﬁzlmsﬁsqqA¢g

15
Aufeli 7

= m

>
. 13

43T 415 521 00,21

7 15 21 60 21 39 13
9 15 45 45 45 45 45 15

(m)




SHA ..

;L

Lo
U=

5
6

11 1
14

© 8

3 2
2492
7+ 3

@ 4

3 2 9 14
?+2§_4ﬁ+2ﬁ_7

@4

20
=6—
21

40
= 06—
42

35
122
42

5 33
12 =82 _
14 6 842

11

© 8




B } 1
£ T A2 TRt MAeY - ol |

2
>
i
&=

’ [l
16
> Hg ¥
ol@+&| FFoid
5 1
18 27

1 5 2 15 17

:§+E:a+5_4:5_4
"2 7] A4tsHA
17 5 17 15 32 16




AL,

._._“_..u
KO0

A

._._“_..u
)

il




5t

[}

7
9

+3

3
4

3)3

7
9

5
8,

7

9

1
b 3 b
12
3
+3
3
* 12

8
9

3
,31
@ 3
® 3
ot HYrt,

°

3
e

e nE Ponz Bi BRI 7S D
=

3
8

1
+3

® 3
@3Z+3

~ o

o | <

27 28
AL 2oz
ﬂ1%<%"h.

28
36

o] 744 e,

H

3}

S

_94

7

9

+3




24.

4 7
2L E0]9] IR E9] gL Q9E=d 0.75L = #5YTh 1EL 9]
=2 A Boiod, oo g H [ o] B8 ¢ Hojof 715 Al
7k
1 1 1 3
- = - L °L
© 4L @ -L ® 2L @ ® 1
o m s 75 3. o
0.75L S B4=2 X)W —L=-1L 4dych
100 4
%4 ol Q= B2
4 3 16 15 1 ol
5 4 20 20_20( A4
whetA], 9Fo 2 T Hojof ot B2
LT _(B_L1).L
20 10 \ 20 20 10
19 7 19 14 5 1
—]_—— _——= _—— —:—:—L
20 10 20 20 20 4()




P AA AL e HQER ALt Feka e 2211 Lo}

4 HQUE 31T oA GYFE AT L T A 1L
o 24 MU= 10 L7 Rk e Aot o A8 HelEs
wE g L gyt

3 13
) 27 L @ Q%L ® 2-L

11 1
@ Q%L ® 25 L

3 .9 15 18 33 13
Sl =41 =12 =220(L
17190 =30 e ~ e ~ 20




